Calcula la derivada de las siguientes funciones
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f(x)=3x-2xX+3x-7 2

f (x) = x* - cos x+1

4x -2

f =
(x) X2 +2X

1

f =
(X) 1+cosx
2x% = X

f =
(X) 2x+1

f(x)=\/§+ln X—2

f (x) = serfx [to2x
f(x)=x*+2¥
f (x) =ser2x+2

f (x) = € [Cosbx

f (%) =x+3x
52

£ (x) = xo*
f(x)=In(1+x)
f(x)=seéx-3

£ (x) =log, x+2

f (x) = sen2x + serfx

5

11

14

17

20

23

26

29

32

35

38

41

44

47

50

f(x)=x*-x
f(x) =40 - elX
f(x):(x2+2x+1)4

f (x) =1- cotg x

f(x)=v1-%
f(x)=(x-2)"&*
f ()=

f(x)=(x*+1) Onx+x
f (x) = serf (x* +2x)
f(x)=(Inx)* +Inx+1
f(x) =In(x+1+ )
f (x) = sen xIn(cos ¥

f(x) =x™+(Inx)"

f (x)=x*3*
1
f =
(X) 1+tg X

f (x) =(x+seny’
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f (x) = 3senx-2 x
f(x):lnx—%

f (x)=(x - ) Csens 2
f (x) = X &

f (x) = senx3tg x

f (x)=serd x senx

5
f =
(X) 3+ 2c0os X
N
€
f =
=5

f(x)=tgx*-tgx+1

tg® x
cos X

f(x)=

1 1
f(x)_ssz'@J'l
X

f =]
(X) 1+Inx




52 f(X):7§ 53 f(x)=4/senx 54 f(x)=ser(In

X
cotg X

55 f(x)= 56 f(x)=Inv1+x 57 f(x)=

58 f(x)= tgs(§j+£ 59 f(x)=x*0Onyx+1 60 f(x)=e""Osenx



